12 GA, GALV. COMMERCIAL
TOP ROLLER BRACKET
ATTACHED W/C4) 1/4° x i
3/4° HEX HEAD SCREWS
PER BRACKET

ADJUSTABLE ROLLER

2° 10 BALL NYLON LONG STEM
ROLLER W/ BOLT RETAINERS
FOR NON THREADED SHAFTS
EACH END STILE

TYPICAL TOP FIXTURES

N.T.S.
32° MAX, SECTION HEIGHT

ATTACHED W/ (2> 1/4" x 1/2°
BOLT & NUT PER BRACKET

4.5 20GA, R-TRUSS ATTACHED
W/ (4) 1/4" x 3/4°
HEX HEAD SCREWS AT

CARRIER

14GA. CENTER HINGE ATTACHED
W/ () 1/4* x 3/4’ HEX HEAD

3 20GA, STRUTS ATTACHED
w/ SCREWS AT EACH CENTER STILE

@) 1/4" x 374
HEX HEAD SCREWS AT
EACH CENTER STILE

4.5 20GA. R-TRUSS ATTACHED
W/ @ 1/4" x 3/4*

HEX HEAD SCREWS AT

EACH CENTER STILE

3° 20GA. STRUTS ATTACHED
W/ @ 1/4° x 3/4*

HEX HEAD SCREWS AT
EACH END STILE

25 GA (MIN)

EXTERIOR SKIN\

14 GA. END HINGE ATTACHED
W/ (6> 1/4° x 3/4" HEX HEAD

27 G

e

A (MIND

INTERIOR SKIN

12 GA RESIDENTIAL

TOP FIXTURE ATTACHED W/
4> 1/4* x 3/4" HEX HEAD
SCREWS ADJUSTABLE SLIDE
BRACKET ATTACHED

W/(@> 174" x 1/2* BOLT
AND NUTS

TOP SECTION: 4 1/2°H X 20 GA,

(4’ R-TRUSS> GALV. STEEL R-TRUSS
STACKED ON BOTTOM OF TOP FIXTURE
ATTACHED W/ (4) 174" x 3/4*

HEX HEAD SCREWS AT EACH END
STILE AND W/ <2) 1/4" x 3/4°

HEX HEAD SCREWS AT EACH CENTER

@ GLAZING DOPTIONAL
( /— B

W
TYPICAL CENTER HINGE SCREVS

14GA. ADJUSTABLE ROLLER

O,

T N.T.S. CARRIER ATTACHED TO STRUT
7 2 y W/ (3 1747 x 3/4* "
i HEX HEAD SCREWS
2* 10 BALL NYLON
— o e LONG STEM ROLLER
T T : ~ W/ BOLT RETAINERS FOR
1 1 1| NON~THREADED SHAFTS
/ / 3 45" 20GA, R-TRUSS ATTACHED
' 1] W/ () 174" x 3/4°
HEX HEAD SCREWS AT
EACH END STILE
- e — | GLAZED SECTION END HINGE 3
\@ N.TS.
i
2 2 . 14GA. CENTER HINGE ATTACHED
b 3" 20GA. STRUTS ATTACHED W/ (6> 1/4° x 3/4°HEX HEAD
= W/ (@) 1/4° x 3/4
: HEX HEAD SCREWS AT " SCREWS
6 EACH CENTER STILE
45° 20GA, R-TRUSS ATTACHED
W/ (2 1/4° x 3/4°
e A HEX HEAD SCREWS A
s s 47§ vy EACH CENTER STILE
1870 ax GLAZED SECTION CENTER HINGE
INSIDE_ELEVATION @

3* 20GA. STRUT N.T.S.

ATTACHED W/ @

N.T.S.

STILE

(1> 3* 20 GA STRUT ON
INTERMEDIATE AND TOP SECTIONS
ATTACHED W/<2> 1/4° X 3/4" HEX
HEAD SCREWS AT EACH END STILE,
AND EACH CENTER STILE

“ 14GA, ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS
P =" W/ 3 1/4" x 3/4°

HEX HEAD SCREWS

4 1/2°H X 20 GA. GALV.
STEEL R-TRUSS ¢4” R-TRUSS)
ON INTERMEDIATE AND BOTTOM
SECTIONS ATTACHED W/ (3)
1/4* x 3/4° HEX HEAD SCREWS
AT EACH END STILE AND <@
AT EACH CENTER STILE

BOTTOM SECTION: 4 1/2°H X 20 GA.
(4’ R-TRUSS> GALV. STEEL R-TRUSS
STACKED ON TOP OF BOTTOM BRACKET]
ATTACHED W/ (4) 1/4" x 3/4*

HEX HEAD SCREWS AT EACH END
STILE AND W/ <2 1/4° x 3/4°

HEX HEAD SCREWS AT EACH CENTER
STILE

BOTTOM BRACKET ATTACHED
W/ (5) 1/4" x 3/4" HEX HEAD SCREWS

SECTION A—A (SIDE_VIEW)
N.T.S.

1) 1/4-20

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE

B B A WITH THE PROCEDURE DESCRIBED IN DASMA 108 & 115, AND

LONG STEM ROLLERS

174" x 3/4° HEX _
HEAD SCREWS AT 45" 20GA. R-TRUSS ATTACHED REV_[DESCRIPTION OF REVISIONS DATE | BY

EACH END STILE 14 GA. END HINGE ATTACHED W/ &) 1/4° x 3/47

W/ (5> 1/4" x 3/4° HEX HEAD HEX HEAD SCREWS AT
14GA. ADJUSTABLE ROLLER SCREWS AT EACH END STILE EACH END STILE MAX SIZE -
CARRIER ATTACHED TO STRUT 45" 20 GA R TRUSS e =
W/ (3) 1/4° x 3/4 : 2 g
HEX HEAD SCREWS 13 Gl TTOM BRACKET  ATTACHED W/ (@ 174 X_3/4* 89 ‘_-"\\\\\ \ 5
¢ 10 BALL NYLON WSy 174° X 3547 HEX HEAD SCREWS PER STILE DESIGN LOADS &8 = 15..... £y Y z
LONG STEM ROLLER HEX HEAD SCREWS +25.3 PSF | S - o;\?, g d’" g
. W/ BOLT RETAINERS FOR —28.8 PSF <E ;’* *), 8
4.5* 20GA. R-TRUSS ATTACHED NON-THREADED SHAFTS 2= Sas il T8
W/ (3 1/4" x 3/4° 2" 10 BALL NYLON LONG STEM TEST LOADS | SE  Zoesstss JETU RO SR
HEX HEAD SCREWS AT ROLLER W/ BOLT RETAINERS (15 » oEson Lows)| o B ERDINE -
EACH END STILE FOR NON THREADED SHAFTS '+38 0 PSF T4 ? zﬁ)‘ ! 3
TYPICAL END HINGE 5 R-TRUSS SPACER -43‘2 PSF E'E <, / Q‘j 2z
NTS. TYPICAL BOTTOM BRACKET (4 - 3 W )z Yy s
. N.T.S. % !‘OA‘ . ..CE s(c QQI 4 g
20° GA, GALV. 2 \CSSIONAL \x =

JAMB SEAL 2 X 6 SYP OR SPF 5 i N
STEEL END STILE vy (NO. 2 OR BETTER) R-TRUSS SPACER ("~ 5 W \\"i&, 2
(> 5/16* x 1 5/8° N.T.S. GLAZED SECTION ONLY LARGE MISSILE| £ 2 TX t
AME: SRACKET MPACT | & S
O X )|

x 5/8° TRACK _
SPLICE BOLT
AND NUT PER
JAMB BRACKET

INTERMEDIATE

2" GALV. STEEL TRACK HINGES 14GA (MIN.)

THICKNESS .083"(MIN.) 45° X 20 GA. R-TRUSS

TRACK MOUNTING DETAIL

ASTM E330. THE PRESSURES SHOWN ON THE DRAWINGS WERE
CALCULATED USING ASCE 7—16 WITH THE FOLLOWING PARAMETERS
(5 FEET OF DOOR WIDTH IN THE END ZONE, ROOF AT ANY
SLOPE):

W/ 7/16° BOLT
RETAINER FOR
NON-THREADED
SHAFTS

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED 7O R-TRUSS WIND SPEED (MPH) 168 152 145 138 133
W/ (3 174" x 3/4* HEX HEAD SCREWS EXPOSURE LEVEL B C C D b

MEAN ROOF HEIGHT | 30’ 15’ 25’ 15’ 25’

N.T.S.

arr
MODEL #3000 AMARR CLASSICA 3000

SzE| ORAWNBY  ORC| DATE 11/05/2020 DRAWING NUNBER

B[ ceckeopy ou| oar mjsom  |IRC-3316-130-24-
TIC

165 CARRIAGE COURT WINSTON-SALEW, NC. 27105 | SHEET 1 OF 3




INTERIOR OF GARAGE

~—1 MAX. WDTH 16'0" [

DESIGN LOADS

+202.4 LBS,
-230.4 LBS//IETT SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM- THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+202.4 LBS/FT & -230.4 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. EXTERIOR MIN. (.019"), AND

27 GA. INTERIOR MIN. (.014") ROLLED FORMED

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

6. REFER TO TABLE 1 ON PAGE 3 FOR STRUT SCHEDULE

7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH
THE 2018 IRC/IBC

S
(SPLICED

==
SPLICE TRACKS AT THIS LOCATION
W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8"
Gom LAG BOLTS
) :
EQ (1) 5/16” DIA. x 1-5/8"
/ LAG BOLT ATTACHED TO JAMB
; AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

TRACK CONFIGURATION FOR 8’ TALL DOORS
N.T.S SEE TABLE 2 PAGE 3

'~————-—DDDR HEIGHT

A

VERTICAL LIFT

F =

ki,

AVAILABLE TRACK CONFIGURATIONS

MO

HIGH LIFT

oy

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WDOD FRAME STRUCTURE

5/16" X 3 LAG SCREWS STARTING 6“ FROM ENDS THEN 247 OC. (1 1/2° EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT T0O 2,000 PST CONCRETE

HILTI KWIK BOLT 3/8° X 4” STARTING 6 FROM ENDS THEN 24 0.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4‘ STARTING 6 FROM ENDS THEN 22° O.C. (1 1/4* EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4° STARTING 6’ FRElM ENDS THEN 24‘ OC. <2 1/2" EMBEDMENT
VERT ACHMENT T

SIMPSON 1/4” X 3* TITEN SCREWS STARTING 6* FRDM ENDS, USE PAIRS OF FASTENERS

(3’ APART) AT 16° OC. {1 1/2° EMBEDMENT)

HILTI 1/4" X 2-3/4* KWIK-CON II+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF

FASTENERS (3° APARTY AT 16" O.C. <1 1/4” EMBEDMENT

RTICAL JAMB ATTAC ROU —90 BLOCK <2000 PSI Ut
HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6 FROM ENDS THEN 24° OC. (1 1/4°
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

A A
CONCRETE HOLLOW BLOCK GROUTED BLOCK

I

N.T.S.

woop
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE
g ’ - f
b \
\ \ \ L
== = 7
d L - | -
1/2* MIN 2-3/4* MIN 1-1/2" [MIN 4
2X6 JAMB
TYP. 3° MIN
REV__[DESCRIPTION OF REVISIONS , DATE | BY
MAX SIZE o
16" x 14 | & g
DESIGN LOADS %8 o
+25.3 PSF | €8 z
—28.8 PSF | W= £
< E 2
s , G
TEST LOADS | 2% 7 g
(1.5 x DESIGN LOADS) ?:) < , Y S
+38.0 PSF | B5 £ ,ﬁ rg{ g
e 3 -432psF | B5 Y 8582 >
T =]
: G e
z| 210 E \\\“"IONA\,‘?:§ = =
2|8 z (P LARGE MISSILE| &3 M @
| S 14 IMPACT =2 TX &
i : RESISTANCE 2
— el
MODEL 3000 AMARR CLASSICA 3000
SZE| ORAWNBY  DRC| DATE 11/05/2020 DRAWNG NUMBER
B cexeogy ow| e njeem  |RC-3316-130-24-1
ARR COMPANY
165 CARRIAGE CDLAIST WINSTON-SALEM, N.C. 27105 SHEET 2 OF 3




TABLE 3

37-3/4* MAX. DLO

. Center Stile Locations \
¥ g 5 x 5 Section (Measured from Left Edge) TABLE 1
(ft) (in) (in) (in) (in) ”
20-1/4* I i 09'2 |[55.00 TOP 4.5
MAX. DLO 09'4 |56.00 3"
09’ 6 |57.00 4.5"
3 T = = = " 09' 10 |59.00 3"
10' 0 |60.00| 4.5"
GLAZING FASTENER DETAIL 10'2 [61.00 , ATH '“
N.T.S. 10'4 [62.00 3
10' 6 |63.00 45"
10'8 [64.00 3RD -
iﬁic?o?ﬁrgéﬁﬁunr% r:\ELUMINUM . 10' 10 |65.00 3
W/.375 BITE ON GLASS HEAD( lgi‘g*éBTM"ET‘ALPQE“R"Jf}é 11'0 166.00 4.5"
USED TO FASTEN THE ALUMINUM 112 167.00 2ND -
1/4* MAKROLON POLYCARBONATE INTERIOR FRAME TO THE - , 3
/ MANUFACTURED BY BAYER / / ALUMINUM EXTERIOR FRAME\ 11"4 [68.00 1o
- 11'6 [69.00 .
L L 8 15600 BOTTOM o
11''10 {71.00 : .
/e % /8 CONTINDOUS 12' 0 [24.63| 72.00 | 119.38]
055" 6060° EXTRUDED ALUMINUM 12' 2 |125.13| 73.00 | 120.88
12'6 [26.13] 75.00 | 123.88
SECTION B-B IMPACT WINDOW DETAIL 128 |26.63| 76.00 | 125.38
N.T.S. - - -
12''10 {27.13| 77.00 | 126.88
13'0 [27.63] 78.001128.38
13'2 [28.13] 79.00 | 129.88
13'4 |28.63| 80.00 | 131.38
13'6 ]29.13| 81.00 | 132.88
13'8 129.63]| 82.001134.38 REV |. DESCRIPTION OF REMISIONS DATE BY
13' 10 {30.13| 83.00 | 135.88 .
TABLE 2 140 |30.63| 84.00 [137.38] e o
DOOR TRACK ATTACHMENT 14' 2 3;1.13 gggg 13322 18" x 14’ §§ Sy E
HEIGHT ‘ 14' 4 3 '63 . 4 . DESIGN LOADS gé ‘::' EOF T \\ kz)
- ——t—t——— 14'6 [32.13] 87.00 |141.88 t%gg I'zgg ;; ;’% V“‘E*,qd}\) g
14' 8 [32.63] 88.00 | 143.38 BE i f %% R *'a, 2
14' 10 |33.13| 89.00 | 144.88 TEST LOADS Ei—i ;*
1570 |33.63] 90.00 [146.38 oo xoesauions) £5 § THOMAS L6t fECMERD! S
] . g g ' y <
15'2 [34.13] 91.00 | 147.88 ~43.2 PSF | £5 ; z
15'4 [34.63] 92.00 | 149.38 ‘ %é lQ On </CEN3‘?.°\§<‘5”J 8
15' 6 |47.42] 93.00 |138.58 ZE \CSSioNALEN = s
15' 8 |48.02| 94.00 | 139.98 LARGE MisSILE| 58 N ®
15' 10 [48.62] 95.00 [141.38 , cepact | F& TX B
. . 16'0 [48.42| 96.00 {143.58
-n-
} Tl BT arr,
ALL TRACK AND ATTACHMENT SPACING +
ALLOWED WITH SYP OR SPF NO. 2 OR B ER ONLY MODEL 3000 AMARR CLASSICA 3000
SIZE| DRAWN BY  DRC| DATE 11/05/2020 DRAWING NUMBER
B | cHEckeD BY DL | DATE 11/06/2020 IRC-3316-130-24-1
165 CARRIAGE CUSQ?R\?/ISE;"E@:‘;ALEM, N.C. 27105 SHEET 3 OF 3




